ROSE-HUWMAN Institute of Technology

Sophomore Engineering Curriculum

ES201 Conservation & Accounting Principles

Example

A super-light space-age refrigerator developed by Thomco Industries, Inc. rests on two frictionless casters as shown in
the figure. A force of Q = 50 Ibf is applied a distance 4 above the ground. If the fridge only weighs an incredible 80 Ibf,

a) find the acceleration of the fridge and the range of 4 for which the fridge will not tip.
b) Repeat part a) if the casters are locked and the fridge moves relative to the ground with # = 0.25.
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